


Interactive Question

A weightlifter lifts a heavy weight over his head and then

sets it back down. The work that the weightlifter does on

the bar is:

A) Greater than 0 since he applies a force in the direction of the
displacement

B) Equals 0 since the change in Kinetic Energy = 0

C) m@c&m 0 since he does not apply any force while lifting the bar

D) Less than 0 since the force he applies is opposite in direction to
the Qm@_momﬁwﬁ

E) Equals 0 since the work he aomm in lifting the bar up is equal and

~ opposite to the work he does setting it down
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Interactive Question

Two marbles, one twice as heavy as the other, are dropped
to the ground from the roof of a building. Just before
hitting the ground, the heavier marble has

A) as much kinetic energy as the lighter one.

B) twice as much Kinetic energy as the lighter one.

C) half as much kinetic energy as the lighter one.

D) four times as much kinetic energy as the lighter one.
E) impossible to tell.



Interactive Question
In which system is there a decrease in potential energy?

A) A boy stretches a spring.

B) A child slides down a sliding board.

C) A crate rests at the bottom of an inclined plane.
D) A car ascends up a steep hill.

E) More than one of the above



